FARETE (& #4128 iﬁﬁ) BZ5385 BPOE3R5 0HFYLSEHAL 0E3EhAL
ﬁﬁkﬁ?/ IT_I\$& = - . 0% 20% 40% 60% 80% 100%
FET AL PER ‘ ‘
Q1|4 4EIE, BREFEELATNS, 1 55 _45_'
Q2|&fEld. BOF YL, BiEEL - TERETEE ST, 2 18 82 _'
o[ FRIT A—LR—SPERIZSY - FRBEGE TREAOBROERREE | 3 73 27 .
Plrats. : | | C
Q4|##IZ, FRDEEHITODVTEZ Y, EARDEE TEYLESELTINS, 4 ‘45 | 55 _'
s £, BROR - BERTORBEALEEDERITEEELAL, BMLT 5 o7 36 \
AV i ‘ ‘
Q6| EFEIC BB - HARMEZ AN LoAY BIZHLESIZERYBA TS, 6 45 36 18
Q7|4kIZ. RETER. BELEELENREFXTEL TV S, 729 64 27
Q8|—A— A2 AR ZIMH<ESITTRL TR EET> TS, 8 36 64 )
QMY BT, ELNMEEELTWS, 9 18 82 )
QIO|EBENE L. ELLRS, 10 42 50 8
QlI|REFBOBEERHITHLIZBHTNS, 11 22 78 )
QI2|EHEIE. W—ILESFY ., BELNEREFOHREFELRDIENTETWS, 12 22 78 D
Ql3|£ftIF. TRE, BigE $ICIFAIRERETHRIELVEEICEH TS, 13 [ 56 33
Q14 EREENL, £EICESTHRELTLNS, 14 44 56 )
Q5| & #EIF I HLEDES B, 15 22 67 11
Q16| # (. LUHOFERDHENELNEREIYIZEH TN S, 16 56 44 )
QL7|#HIE. BN OBBEENAEHL, BMIIREICIYBATNS, 17 [ 67 22
Q18| #(E. £ LREEEORKITHEYIHL TS, 18 67 33 )
019 FRIE, BERCOCBBREIHO, £FELOTVERIVLBRIMATL | |4 L - ) 5
o — ]
Q20|43 REE OB OB RIEHET . HEFBHIZENLTLD, 20 33 67 )
S| ®FIE] . -
= |[PPES(S F58Bbh| A BEH
H - 5V oYY =
o %jll_.\j E'g\j jll..ll#\’) N 7;'«‘ % MI ﬂ Iﬁ aE =
1 55 45 0 0 100 100 0 O 2Mf#IcH ’#%ﬁ'étgl’\ﬂ
O 4#HMELL BEEREEEE>TNAIEEERTETS,
2 18 82 0 0 100 100 0 O 4AENREFTELTVDIERIL. IR, BEEL. BT E
3 73 27 0 0 100 100 0 ﬁ\LgTEét%z_‘CL\éb‘ ?L‘%&G);\’——kujb\ﬁbhé
p 25 0 0 oo} 100 0 O B ABE N BB BA T e AT
5 64 36 0 0 100 100 0 ;}-LEL,'C[,\é
6 45 36 18 0 100 82 18 ,.“\h#%‘\‘o?ﬁ'mﬁ.uht\t“tia ERMIEREICIYBATNSIER
; 5 ” o 5 100 7 o XL, EEMLERMEMLTLS,
8 36 64 0 0 100 100 0 ;
9 18 82 0 0 100 [ 100 0 st B =B IE
10 42 50 8 0 100 99 8 FE@E X TFHLOWEESK IZBEZATOEE~OEHEMT
O REZFFEDNREE O FEREOMEL
mp 2l 1 0 0| 1oof 100 0 O HMYOTIEXRE (FEEREBHHTH)
12 22 78 0 0 100 100 0 HSEm ;?15» )nggég gfuégﬁﬁ?%’&‘ﬁbé
O RELOLLHLEDEEHI-EFTZTIEIY
L I b6 33 0 100 67 33 O HHEBOEE BN HE—FIL—LDKEISTWY)
14 44 56 0 0 100 100 0 2%
15 99 pre = 0 100 = I Oé%ﬁ%ﬂi‘muﬁﬁ%rﬂﬁaﬁb BE-RDEERIVYIZED
16 56 44 0 0 100 100 0 O BRAYR—FIL—LOREHEEZ ERIZERLIOLVVEREAD
HEERS,
[ B 67 22 0 100} 78 22 O ENERECENBELTEETERET,
18 67 33 0 0 100 100 0 D = 7 >
19 44 44 11 0 100 89 11
20 33 67 0 0 100 100 0




